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Consumer & Producer Surplus
Starter: Discussion Question
Scenario: These people all paid the same for their cinema tickets to see the latest ‘Star Wars’ Movie, but 
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Questions: 
Who would have been willing to pay more (and how much do you think they would have paid)?
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Why might they be willing to pay more?
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………

Presentation 1 – Consumer Surplus
Complete the activities below so as to have a complete set of notes:
Definition: Consumer Surplus
……………………………………………………………………………………………………………………………………………………………………………………
It is the difference between the total amount that consumers are willing and able to pay for a good or service (shown by the demand curve) and the total amount they actually pay (i.e. the market price). 
CS = WTP – P

Diagram: Showing CS
Consumer surplus is indicated by the area under the demand curve and above the market price. 


Key Notes: Changes in Market Prices 
The level of consumer surplus changes as the market price for a good or service changes – here are two examples:

E.g. 1: Higher supply costs leads to a rise in market price and a fall in consumer surplus










E.g. 2: An increase in market demand causes consumer surplus to increase












Presentation 2 – Producer Surplus
Complete the activities below so as to have a complete set of notes:
Definition: Producer Surplus
……………………………………………………………………………………………………………………………………………………………………………………
It is the difference between the total amount the producers actually receive (i.e. the market price) and total amount that they would have been willing and able to sell a good or service for (shown by the supply curve)
PS = P - WTS

Diagram: Showing PS
Producer surplus is indicated by the area above the supply curve and below the market price.




Key Notes: Changes in Market Prices 
The level of producer surplus changes as the market price for a good or service changes – here are two examples:

E.g. 1: Higher supply costs leads to a rise in market price and a fall in producer surplus










E.g. 2: An increase in market demand causes producer surplus to increase










Presentation 3 – Consumer & Producer Surplus in one diagram
Complete the activities below so as to have a complete set of notes:
Diagram: CS and PS when the market is in equilibrium 
CS at Equilibrium:
……………………………………………………………………………………………
PS at Equilibrium:
……………………………………………………………………………………………

Key Notes: Relevance of CS & PS
Consumer and producer surplus are important concepts in examining society’s welfare.


Definition: Allocative efficiency
……………………………………………………………………………………………………………………………………………………………………………………
Society is producing goods to match the needs of consumers. This happens where supply equals demand.
For a given supply and demand, total welfare (CS +PS) is maximized, and allocative efficiency occurs, at equilibrium

Key Notes: Changes
Changes in S or D will bring about changes in the total of consumer and producer surplus (i.e. changes in economic welfare)
Key Notes: Disequilibrium
The total level of Welfare (CS+PS) is not maximized.
Though one party may be better off than at equilibrium.

E.g. 1: Excess Demand (market price is below equilibrium).
CS grows, but not by as much as PS falls, so we see less welfare than in equilibrium, a dead weight loss (DWL).







E.g. 2: Excess Supply (market price is above equilibrium).
PS grows, but not by as much as CS falls, so we see less welfare than in equilibrium, a dead weight loss (DWL).








Task: Showing changes in CS and PS
Instructions: 
On four different axis, show what happens to consumer and & producer surplus if: 
1. demand at all given price levels increases,
2. demand at all given price levels decreases,
3. supply at all given price levels increases,
4. supply at all given price levels decreases.
1.  							2.







3. 							4.

Assignment
Short-answer questions (Section A)
1. The diagram shows the market for peanuts where the initial equilibrium price is Pe and quantity Qe.
[image: ]





a. Illustrate the area of consumer surplus on this diagram.
[1]
b. The most likely effect of a severe drought which damages the peanut crop is for:

A	Price to remain at Pe and producer surplus to increase
B	Price to increase and consumer surplus to decrease
C	Price to decrease and consumer surplus to increase
D	Both price and producer surplus to increase
[1]


2. The diagram shows the market for music CDs.
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The demand for CDs falls from D1 to D2. Illustrate the loss in producer surplus on this diagram.
[1]


3. Neringa is prepared to pay £2,500 for a luxury cruise to the Caribbean. If the current price is actually £2,000, which of the following might cause her consumer surplus to increase?

A		An increase in wages paid to cruise holiday workers by £500 per year
B		A decrease in value added tax placed on luxury cruise holidays
C		An increase in the price of the cruise to £3,000
D		A decrease in the number of companies offering luxury Caribbean cruises
[1]



4. The diagram shows the market for cherries. In year 1 demand is represented by D1 and supply by S1. In year 2, the supply of cherries increases to S2.
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This causes consumer surplus to increase to the area:

A		XYP1
B		YTZ
C		P1YTP2
D		XZP2
[1]



5. The diagram shows the market for ice cream.
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In the winter demand is represented by D1 and supply by S1, with the equilibrium price at 0P1. In the summer demand increases to D2, raising price to 0P2 and causing a gain in producer surplus equal to the area:

A		P2XT
B		P1P2XY
C		P2XQ20
D		P1YZ
[1]


Data Response (section B)
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Question: Examine the likely effects of a fall in the price of cocoa on the producers of chocolate products such as Cadbury’s Dairy Milk bar and Nestlé’s Kit Kat bar.								[10]
	Planning Grid: Aim = 4 paragraphs - 2 KAA points (6); 2 Eval points (4) with a conclusion 

	KAA Point 1 = signpost key point
	

	Application
	

	Main concept & diagram




	

	Eval Point 1 = relate to your earlier point & re-read the title
	

	Context / evidence
	

	KAA Point 2 = signpost key point
	

	Application
	

	Main concept & diagram




	

	Eval Point 2 = relate to your earlier point & re-read the title
	

	Context / evidence
	



Find more resources at www.smootheconomics.co.uk
image4.jpeg




image5.emf

image6.emf

image7.emf

image8.emf

image9.png
The price of cocoa

Figure 1 Cocoa prices, March 2007 - December 2011
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(Source: © US. Department of Agriculture)
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Extract 1 Unstable cocoa prices

The price of cocoa fell sharply from £2 153 to £1 410 per tonne between February
and December 2011. This follows a decrease in consumption from Europe - the
Wworld's largest consumer of the commodity - amid fears that it was entering a
recession. At the same time there was a very good cocoa harvest in the Ivory Coast,
the world's biggest producer, which supplies around 40% of global output.

The supply of cocoa in 2012 is set to exceed demand by a record 400 000 tonnes,
adding to producer stockpiles. There are fears that farmers will abandon looking after
their cocoa trees, which take five years to grow to maturity, and switch to growing
rubber. However, rubber prices have also decreased in recent years.

Cocoa is subject to enormous price fluctuations: in June 2010 its price reached £2 190
a tonne. This was the highest price for 33 years, resulting from a disappointing crop
caused by poor weather, ageing trees and a temporary export ban imposed by the
newly elected President of the Ivory Coast. Price fluctuations create instability in
income, employment and investment among cocoa farmers.

To reduce the damaging effects of fluctuating cocoa prices, the Ivory Coast
government has introduced a guaranteed minimum price scheme to support farmers.
The success of this scheme will depend partly on the response of international cocoa
buyers and whether or not they will seek to purchase from other major producers
such as Ghana and Nigeria.

In the long term, as the emerging markets continue to grow, demand for cocoa from
China and India is likely to increase. Consumers in these countries are developing a
strong taste for chocolate. Cocoa is a key ingredient in making chocolate products
such as Cadbury’s Dairy Milk bar and Nestlé’s Kit Kat bar. However, it only forms
around 6% of the price of a bar of chocolate.

(Source: adapted from ‘Euro debt crisis bites into cocoa’ by Emiko Terazono,
© The Financial Times Ltd, 5th December 2011 and http/www.traidcraft.co.uk)
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Examine the likely effects of a fall in the price of cocoa on the producers of
chocolate products such as Cadbury’s Dairy Milk bar and Nestlé's Kit Kat bar.
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